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Abstract
This paper makes use of a Dixit-Stiglitz framework to dissect the combined productivity e฀ects of capital variety and

average capital specificity under general equilibrium. The impact of key parameters like entry costs, market size or

price elasticities of demand on these variables is shown to differ according to whether agglomeration effects are

present or not and how strong they are.
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������ �	�� ��
 θ′ (N) < 0� $������� � 	��	�
 �
�
� ������
��� �� ������ (ε)
	�� �� ������
������ ����
� �� ����
��� ��
����� 
���� �	�� θ′ (N) > 0 ��� � �������� ��� �	��

θ′ (N) < 0�  	� ��
��
 �� �������� ����
 �	� ��"
���� 
�������� θ′�N�N
θ�N� ≤ �

ε−� �

����$� .�� �������"�

��� 
���� � ��� �

������� ���� ���	�� 
�4� ����$
 �� ���� ��� &����
 ������� ��
����� ��
.���� ����)�� ��
�������$ ���� ��� ��
�
��� �& ����� �
 ������ ������� �� ��� �"���� �& ��� ���	���
��� ��
�����$ %�� ��������
��� $���
 ��
� ���� �"������� �� �� ����� ���
 �� ��� ����������� ���
�
��
� ��������� &�� ��
������ �����,������� 
������� ��
���������$ �& ���������� �9�6����� *+++��
�������$ �� �"������$ �5� 6���	��� *+�:� �� 
�#������� ���������� �����
 
�������� �� 
�������4��
����
 �(����� ��� �

�� *+�:�� C� ��� ��
�� � ���$�� ���	�� ����
 �� ��$��� �$$��$��� �����������
�������$ ���� 
�������
 �� ����	 �
�� ��� ������
��$ ��� �
���������� �& ������� $���
� C� �����
����
� 
�������4����� �� ��� �"���
�
� ���$��� K� �
 ��������� ���
 �
 � ������ ���
�������
�"���������� ��� ��� ���� �
 ��� ����&����� �� � 
������ $��� �� ��� �����
�
� ���$��� E (ϕ)� ����
%��
 
�� ����� �������$ ��	������� ������
� �
 � ��
��� �& �$$���������� � ���
� �

������� ����
θ′ (N) > 0� /
�� �& ���� �
 ��� ��� ��
�� ��������
��� ��� 
���� $� �� ���� ���$���� ��
�
 �����



����� � 
�!������� �����
��� �������$ &�������� ���
 ������
 ���� ��� ���� �� ��� &��#����� �& $���
������$
� ��� �� � ��$��� ������ �& ��������� �
��
� �
 ������
��� 
����� -���� 
��� ���������
� ���
����%�
 �& ����

��$ ���� ������� $���
 ������$� ��� ��

 &��� �������$ ��

 ���#���� 
�������
�

.��,�� ��
�
 &�� %��� ��������
 ������
� ���	�� �������������� ��� �� ��� ������ ��� ������
�& 
�������
� ���� ������
 �����
� ����
����� �$$��$��� ������ ��
��
 ������ ��� 
���� C� ���
��
���� �& 
����%���� ������
� ����� ����� �� �� 
�������� �� ��������
���� ���� �
 �� ���$�� ���
��
� ���� 5�������$ �� ������� ��� �������$ ��	������� ������
�
 �� ������
�
 �
 ���	�� 
��������
����$�
� ���$���� ���������� ��
�
 �
��
� �� ��� ����
��� ����������

��� ���� ���
��� ������ &�� ���� 
������ �
� ��� 
������ ���	,��
 ������� 6���� �#���������
�����
 ������
� ����
����� ����������� ����$ ���� ������ &�� ������������ $���
� 0
 � ��
����
���� 
�������
 ��� �� 
�
������� �����$ �� ��� ������� 
������� ���
 ���	 ������� ����� ���
�������
 �&
������� ����������� ���$���

� ��$��� %�� 
�4� ��� ��� �������� �& ���� ��������
� ��������$��

�
 ��
� �"������ �� 5�
��� ��� B������ �*+�+�� &�� ��
������ �� ��� �����"� �& �������� ��
�����
��� ��
�������� �������
�
� C� ��������� �� %�� ���� ���� E (ϕ) ��
� $��
 �� �& ��� �������$
��	������� ������
�
 ���� ��� ��$��� ������������� ��� ��
��
��� �
����� ��������
��� $���
 ��$��

���� �� �������� �������
�� ���
���� ���� ��� ���
 �& � $��� ����� ������� ���� 
��$����� ���

���
������ ��� �� ����"�� &�� ����� ����� ���
�������
 �& ������� ����� ����� ������� 
������ �

������� �� 
���� ����� ��� ���$���� ����%� ��� �& ��
 �"���
��� �
 ���� ���� ���������� ��� ��	���
�� � 
�� ��� ��

 �� ������� 
����%�����

���
� 
����� � ���
 ��� 
����� �� �� ����� ��

θ′ (N) > 0 θ′ (N) < 0

(��������
� .�����
 ∆K ∆E (ϕ) ∆K ∆E (ϕ)

∆L D D D ,
∆FY + D + ,
∆ε D , D D

����� �A .�������4����� �������


��� �����
 ��� ����� ��$���$����$� '��
�� ���� ����
 �& 
�������4����� �"������ ���� $�������
���E�����$ �������
 �� �� ���
� 
��� �& ��� ���������
� 
�����
 �"����
�
� ��$�����

 �& ��� �

���,
���� ���� �� ��� �������$ &�������� .������ ������
���
 ���$�� �
 ����� �� ��� ���������
 �& ���

&�������� C� ���
 ��
����� �����
������$ ��� ��� ��
���
��� �& ��������� �� ���������� ����������
���

�
��
�
 ���� ��� ������ �& %��
 ��� ���
��� ���������� ��
�$��
 �� ��� ����
��� �& θ (N)� ����
�
 ������ ��� 
���� �& ���
 
���� ����� ����$��

��� ����$�
 �� ��������
��� ��� ���$���� ���������� ��
�
 ��� ��

�� ����$ �� ���
����
�
������$ � ������ � ��� �� ����� ���&���� -
��$ ��� ���
������� �$$��$���� �*�� ������� ��� ��
�������� �
 ��� �������� ������� �& 
������ ��� #��������

C = N
�

ε−�T, �:��

����� T = NCi �����
���
 ����� ���
�������� 0 ���� ���
��� ������ (ε) �
 �

������� ���� ��$���
���

,������� 
��
������������� ����� ������
�
 ��� ������
 &��� 
�������



��� ����
����� ���
������� &�� ���� $��� ��� �� ���������� &��� �#������
 ��� *<� *� ��� *�
����� E = 1� �


Ci = Ψ

�
(ε− 1)E [ϕ (s∗)]

εFK

��−α FY (ε− 1)

Lα
, �:*�

�����

Ψ =
(1− α)���−α� α��α

�α
. �::�

0������$ ���
 �� ��� ���
������� �$$��$���� �����
 ��� ������� E��

C = Ψ

�
L

εFY

� �

ε−�
�
L (ε− 1)E [ϕ (s∗)]

εFK

��−α ε− 1

ε
. �:<�

���
� ��
���
 ��� ��� �� �
�� �� �
������ ��� ���&��� � ���
 �& �� ����� 
��������� ���������
�

����������� � � ��
��
 ��
��� ���� (L) ��

����� 
������
 �����
� �	�� θ′ (N) > 0 ��� 	��
�� ������
������ ����
� �	�� θ′ (N) < 0�  	� ���
� �� �������� ����
 �	� ��"
���� 
��������

−θ′�N�N
θ�N� ≤ �

�ε−����−α� + 1� #��	�
 ���
� 
���� ��
 ���� �
���
�
� (FY ) ��

���� 
������
 �����
�

�	�� θ′ (N) > 0 ��� 	��� �� ������
������ ����
� �	�� θ′ (N) < 0�  	� ���
� �� �������� ����


�	� ��"
���� 
�������� −θ′�N�N
θ�N� ≤ �

�ε−����−α� � $������� � 	��	�
 �
�
� ������
��� �� ������ (ε) 	��

�� ������
������ ����
� �� 
������
 �����
� ��
 ��� ���� �� θ′ (N)�

����$� .�� �������"�

0 ���$�� ���	�� 
�4� ����$
 ���� %��� ��������
 ���� ��� ���	�� ���� ���� N �� �#������ :��
��� �"����
 ��� ���$� �& 
�������
 �
������� �� ���
�����
� C� ��������� ����� ���
������� ����
���� T �� �#������ :�� ��
� ������
�
 ���� θ′ (N) > 0� ���
 �
 
�������� �� ���� 
�������4�����
$���
� ����� ��
� ���� ���$���� ���������� ��
�
 ��� %��� �����
 �
�� B����
����� ��� ��� ���&���
������� ������
 ��������� ���� θ′ (N) < 0 ��� �� ��� ����$���
 � ��� ��
��
�� �� ���$���� ��
�
�
C& ��� �"������ ��
�� �& 
�������4����� �� ��� �����
�
� ���$�� �������
 �� ��� ���� �� ��
���
� ��
� ��$��� ������ �& ����
����� ��������
� �����
 ��� ������
���� ������
� ��$� ����$� 
� �

�� ������
� �$$��$��� ���
�������� ���� �
 ����
�� ��� ��� ��
� ���� ��� �������$ &�������
�
 ������
��� ���� �����
���� ��� 
�!����� ��������� &�� ���&��� $���
 ����� ���
 
������� �
 ��


��
������
� ���� ��� ��� ��#����� &�� � 
����� ��������� �& ���$���� ��
�
� 
���� ���
� ��� ��� ��
����&����� �� ��
���
� ������
 &��� 
������� ���� ��������� �
 ��
� ���� ��	��� �� ���� ��� ����� ���
����� ���
������ �& ������ �
� 1������ 
��
������������ �������
 ���� ���$�� �� ���&��� �����������

�� � ��
� �� ��� ������ �& �
������� 
�������
 �
�� �#������ :��� '����������� �
 ����� ��&���� ���
��

 �� ��� �����
�
� ���$�� �
 ���� ��
��� ������,� �$���
� ������������� $���
 �� ��� �"���
�
�
���$�� ���� ������ �
 �����
����

7� ��� ���� �� ��� � ��� �& 
��	 ��
�
 &�� %��� ��������
� ���
� ��
�����$� ���	�� �����
��� ����� ����� ������
 &��� 
������� 7������ 
�������4����� �� ��� �����
�
� ���$��� �� ����$�

����� ����� �� �$$��$��� ���
�������� $�
�� ���� ��� ���� �� %�� ������
 �
 �"����� � 
�� ��
���$�� ���	�� 
����
 ��� ������ &�� ���� ��� �& ����� C& ��
���� �� ��� ��
� θ′ (N) > 0� ���
���
 �& ����%����$ &��� � 
�������;
 ��������$ ����
��� &���� ����� ������������ $���
 ��
� ������



���� $������� ��� ��
�����$ ������� �� ��������
��� ��� ��
� �� ���$���� ��
�
 �
�� B����
����� ��
����
 ���� �$$��$��� ���
�������� �����&���$ ��� ���
���� ���&��� ��

� ���
 ������
��� ��$��
����������� �� ��
��
�� �� ��
� θ′ (N) < 0� 0 
�!������� ���
��� �������$ &������� ����� � ���
��
��� ����

 �� �������� �����
 ��� �� $������ ����
����� �������������� ��� ����%�
 �������
�
�� ��������
��� ��� �$$��$��� ���
������� ����� ���� �������
��� ��� ���� �� ��� ������ �&

�������
 ��� $������� ��$��� ���
���� ���&���� ���
 �
��� ������
 ��

 &��
����� ����$�� ����
����� ���
�������
 ��� ������ &�� 
������ ���
��
 �� ���
� ��
������ �� ��� �����
�
 �& ���	�� 
�4��

6�
���� � ��$��� ����� ���
������ �& ������ ������
 ���E�����$ � ���
� ���
 ������
 ���	,
��
 &�� %��� ��������
� ��
���$ 
��� �& ���� ��� �& ��� ���	��� '���� ��� ���� 
��
���������


�������
 ������� ��� ���&��� ������
 �� ���
 �����
��� ����� �
� ��� ���� N
�

ε−� �� �#������ :�
������
�
�� �� ��� ����� ����� 
�������4����� ��
����
 ����
��$ 
��������
 �� ���� �& ��
 ���$��

���� θ′ (N) > 0� ��������$ ��� �$$��$��� ���
������� ������� ��������� ���� ���� T �� �#������
:��� ���
 ���
������� ��� ������
���� ������
� �� ��� �
��� ���� θ′ (N) < 0� ��� �� ������$���

��������
��� $���
� ��� ��� �
����� ���&��� �

�

���� ������
 ����$���
�

��� ��
���
 8�
� ���
����� ��� �� 
������4�� �� ����� * ������

3�������	 5�"��,.��$���4 /"������ 5�"��,.��$���4

%� θ (N) θ′ (N) > 0 θ′ (N) < 0

∂C/∂L D D �������������
∂C/∂FY , , �������������
∂C/∂ε ������������� ������������� �������������

����� *A 7��&��� �������


�� "��
�	����

���
 ����� ���������� � ���
��� �& ������� %���

 ���� � ����� �& ��������
��� �����������
���� ��
� �& 
������ ���&������
� ��� ����� � ��
 �$$��$��� �����
� �
��������$ ��� �������
 �&

�������4�����A ��� �
 #���������
�� ��E�����$ ��� ������ �& �
������� ������� $���
 &��� ����� �
%��� ��
�
��� �& ��
	
 �
 �������� ����� ��� ����� �
 #��������
�� ��������$ ��� ���#���� �& ���� �����
�� �� ���������� �
��
� ��� 	�� %����$ �
 ���� ��$�����

 �& ��� �

������� ���� �� ��� �������$
&������� ����
���� 
�������4����� 
�����
 ��� ����� �� �
��
� �� ����
��� ���������
 �� 
��� �&
��� ���������
� 
�����
 �"����
�
� 1����� ���� �� � ����������� 5�"��,.��$���4,/����� &���������� ���
��������
��� ��� ���&��� � ���
 ������� �� ���������
 ��	� ���	�� 
�4� �� 
��	 ��
�
 ��� ���
�
������
���������� 0 %��� ����������4����� �& ������� 
�������4����� �
 
���� ���� �� ��������� ����$����
�� ���
 �

�

����� C� ���
 
��
�� �$$��$��� �����
 ������$ �� �"������$ 
�������
 �& ������� $���

�
 ��� ��$��� �& ��������
��� ����$�� �
 ��
��
�� �� 
��� $������ ����� ��� ��$����� ��������

&�������	
� ��� �� ���	��$ ��� ����
��� �����
����



�������%

����$ �$ ����������� �

.��
�������$ �*<� ��� �*�� �� ����� �"������ ���$���� ��
� ������


MC =

	
(1− α)�Lα (ε− 1)

εFK
E [ϕ (s)]


α−� � �

α�

�α
. �:=�

E [ϕ (s)] �
 ��%��� �� ��<� ��� �
������� �� �#���������� 0������$ ��� ��
����� ������� ��� �
��$
�*�� ��
���
 ��

∂E [ϕ (s)]

∂L
=

1

εFY
θ′ (N) [ϕ (s|m)− ϕ (s|m̃)] . �:)�

0��������� ������������ �����


∂MC

∂L
= Γ

��
θ (N)

L
+

θ′ (N)

εFY

�
[ϕ (s∗k|m)− ϕ (s∗k|m̃)] +

ϕ (s∗k|m̃)

L

�
, �:��

Γ =
α− 1

E [ϕ (s∗)]

	
(1− α)� Lα (ε− 1)

εFK
E [ϕ (s∗)]


α−� � �

α�

�α
. �:2�

@�
�� ���� Γ < 0 ��� ϕ (s∗k|m) > ϕ (s∗k|m̃)� �� &�����
 ����
∂MC
∂L < 0 ���� θ′ (N) > 0� C& θ′ (N) < 0�

��� 
�$� �& ∂MC
∂L

�
 �������������� -
��$ �*��� � 
�!����� ��������� &�� ∂MC
∂L

< 0 �


−
θ′ (N)N

θ (N)
≤ 1. �:��

(��������$ FY �
∂E [ϕ (s)]

∂FY
= −

L

εF �Y
θ′ (N) [ϕ (s|m)− ϕ (s|m̃)] . �<+�

���
 ����
 ��
∂MC

∂FY
= −Γ

L

εF �Y
θ′ (N) [ϕ (s∗k|m)− ϕ (s∗k|m̃)] . �<��

C� �
 ����� ���� ∂MC∂FY
> 0 ���� θ′ (N) > 0 ��� ∂MC

∂FY
< 0 ���� θ′ (N) < 0�

��� � ��� �& ε ����
 �����$�

∂E [ϕ (s)]

∂ε
= −

L

ε�FY
θ′ (N) [ϕ (s|m)− ϕ (s|m̃)] . �<*�

>�"��

∂MC

∂ε
= Γ






�εFY θ�N�−L�ε−��θ
′�N�	[ϕ(s∗k|m)−ϕ(s

∗
k
| 
m)]

ε��ε−��FY

+
ϕ(s∗k | 
m)
ε�ε−��





. �<:�



C� �
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θ′ (N)N

θ (N)
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1

ε− 1
. �<<�

����$ �$ ����������� �

��� ������� � ��� �& ���	�� 
�4� �� ���&��� �
 ���������� &��� �#������ �:<�� -
��$ ��
� �#������
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∂C

∂L
= Λ [1 + (ε− 1) (1− α)]× �<=�





�
εFY θ (N) +

�ε−����−α�
���ε−����−α�Lθ

′ (N)
�
[ϕ (s|m)− ϕ (s|m̃)] + εFY ϕ (s|m̃)

εFYE [ϕ (s)]





, �<)�

����

Λ =
Ψ

εL

�
L

εFY

� �

ε−�
�
L (ε− 1)E [ϕ (s)]

εFK

��−α
. �<��

C� ��� ��
��� �� 
���� ���� ∂C
∂L

> 0 ���� θ′ (N) > 0� ��� ��
��� �
 ����
�� ������������� ����

θ′ (N) < 0� C� 
��� � ��
�� � 
�!����� ��������� &�� ∂C
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ϕ (s|m̃) �� ��
���
�� ���� �
�

−
θ′ (N)N

θ (N)
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(��������
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���
 ��

∂C
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

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θ (N) + �ε−����−α�
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�
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E [ϕ (s)]


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
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θ (N)
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. �=+�
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= ΛL



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�
L
εFY

� �

ε−�
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
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